SWIVEL LIFTING EYE BOLTS SWIVEL LIFTING EYE BOLTS

SWIVEL LIFTING EYE BOLTS

| = — [ =
AUANUIU:WARATUN
1 - S-SLEBA Sl gr;a:;izg Mass ah:lliﬂ:‘:cl part Number
oneluarislinununyu —- Toready | | T CTEI TSN O sockethead | (kg) | load
1 [ | | cap screw (Ton) Type M
[ 48 (N*M)
M8x125 |60]42[34[40[13] 8 [11[27]61][14[24] 8~15 023] 03 [ 8 ]
- - - - M10x15 |60|42[33|40[17] 8 [11|28]61[19]24| 12~20 [024| 05 | 10 |
[UGUU"]E)E)ﬂ[[UU[UJE)[UJUUS:ansn’]LUTUﬂ’]Sﬂn M12x1.75]89 |57 |56 [ 51 | 1913 [17 [39[95|19[37 | 18~29 [ 07 | 08 | 12 |
M16x2.0 |89 |57 |54 |51 |24[13[17|41]95[24[37| 30~49 0.8 16 oo rpal 16
M20x2.5 [126] 82|78 |80|30] 19|23 |56[134]32|51| 49~78 2.2 2.8 | 20 |
M24 x3.0 |126]82 |76 |80 |36 |19 |23 |58|134|37 |51 | 59~196 | 2.4 3.7 | 24 |
! M30x3.5 [179]117[103|111] 46 | 27 [ 32 | 79 [182] 50 | 73 | 108~294 | 7.1 6.3 | 30 |
M36x4.0 [179]117] 99 |111] 55 | 27 [ 32 | 83 [182] 60 | 73| 177~392 | 7.4 8.0 36
M24x3.0 |89 |57|52|51|30|13|17|43|95|38|36| 18~29 |085| 095 | 24 |
M30x35 |89 |57 |52|51|30]13[17|45]97|45|43| 20~39 1.0 15 | 30 |
M36x4.0 [126]82| 72|80 46|19 |23 |63[135/55|51| 34~49 2.7 23 | o eppl %8
PY wénné’u.[ﬁ 180 e\)ﬂ"ﬂu“uos:u'lu M42x4.5 (12682 |72 |80 |46 |19 |23 |65 |137| 65 | 59 49 ~ 98 2.9 34 i
M48x5.0 [126] 82|72 |80 46|19 |23 |65[137|70|68| 59~147 | 3.4 43 | 48 |
M64 x 6.0 |179]117| 94 |111] 65 | 27 [ 32 | 91 [184]| 90 | 89| 88~392 | 9.3 9.0 64
, - e Working Load Limits According to Lifting Method (Safety Factor 1 : 5)
:—iwamt T
R Lifting Method g g5 @ | A | Ao /.A? /.@ Aéz?
e nyuldseu 360 ovrn o | e | ] i ] s s : :
Lifting Angle a 0 90 0 90 |a=0-60| a=60-90 | a=90-120 | a=0-60 | a=60-90 |a=90-120
Mode Factor M 1 1 2 2 1.72 1.4 1 2.58 21 1.5
Type M Working Load Limit (t)
8 0.3 0.3 0.6 0.6 0.5 0.4 0.3 0.8 0.6 0.5
AN 10 0.5 0.5 1.0 1.0 0.8 0.7 0.5 1.2 1.0 0.8
e w - () 12 0.8 0.8 1.6 1.6 13 1.1 0.8 2.0 1.6 1.2
AruauURlAuIboIUSsUIieunu SWIVEL LIFTING EYE BOLTS nolJ &= 16 16 16 32 32 27 22 16 21 33 24
S-SLEBA 20 238 238 5.6 5.6 48 3.9 238 7.2 5.8 42
s .. 24 3.7 3.7 74 7.4 6.3 5.1 3.7 9.5 7.7 55
1 n'nsuumur]'[umsannn'mua_ o 30 6.3 6.3 12.6 12.6 10.8 8.8 6.3 16.2 13.2 9.4
anuasnsudmtinlAuannsnidedsuifisuiu SWIVEL LIFTING EYE BOLTS nalU Adivunaindsaminiu 36 8.0 8.0 16.0 16.0 13.7 1.2 8.0 20.6 16.8 12.0
AodudvaisaidenlBindeofduuraidudngudnatofanndnlalnesutimanlfrianu 24 1.0 1.0 1.9 1.9 1.6 1.3 1.0 24 1.9 1.4
. 30 15 15 3.0 3.0 25 2.1 15 338 3.1 22
Hostiu enoibugud SR 36 2.3 2.3 4.6 4.6 3.9 3.2 2.3 5.9 48 34
i 42 3.4 3.4 6.8 6.8 5.8 47 3.4 8.7 7.1 5.1
48 43 43 8.6 8.6 73 6.0 43 1.0 9.0 6.4
— 64 9.0 9.0 18.0 18.0 154 12.6 9.0 23.2 18.9 135

¢ Part Number Days .
lﬂomer QS_SLEBMO Wel:, |Quotation

2 msusuiAmuielsfunisen
pauauavNIsEnNnAUS:INN NoAud1 nSewannaumiu lisailusieousunfnio fAaviov



